VIKRANTADAD=MY"
NCERT Solutions For Class 11 Maths Chapter 9 Sequences and Series

Question:1 Write the first five terms of each of the sequences in Exercises 1to0 6

whose nth terms are:
ap = n(n + 2)
Answer:

Given : @ = n(n + 2

ay=1(1+2)=3

ag = 3(3+2) = 15

I
[N
i
1N
_|_
i}
e
I
(i
1=

(4
s = -:__I(-:__I -+ 2_] = 35
Therefore, the required number of terms =3, 8, 15, 24, 35

Question:2 Write the first five terms of each of the sequences in Exercises 1to 6
whose nthterms are:

1

(ly = ———

n+1
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1 1
ﬂ,-l:—:—
1+1 2

B 2 _‘2
G TR
3 3

g =i——m =T
3+1 1

4 4

By =i e=i—
YT A+17 5
5 D

g = = =
P h4+1 6

Therefore, the required number of terms 2 '3'4’5°6

Question:3 Write the first five terms of each of the sequences in Exercises 1to 6

whose nthterms are:
fy =37
Answer:

% 7
Given : @n = 2

a; =21 =2
az =2° =4
fr.;_t:ﬂﬂ:ifﬁ
aq =2 = 16
as = 2° = 32
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Therefore, required number of terms = 2, 4. 8, 16, 32.

Question:4 Write the first five terms of each of the sequences in Exercises 1to 6

whose nth terms are:

2n—3
Oy = -
H]
Answer:
2n — 3
. ”.rr— 5
Given : ]
2x1-=3 o |
ﬂ]: % =
§] G
2x2-3 1
§] i
2xw3—3 % 1
g = ————— = — = —
] 6 2
2x4—-3 )
a4 = " e
§] G
2x5—3 T
(g = —
§] i

Question:5 Write the first five terms of each of the sequences in Exercises 1to 6

whose nth terms are:
gy = (_1;|n—15”+1
Answer:

Given - Gy = (=1 157+
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Therefore, the required number of terms = 27, —125, 625, —3125, 15625

Question:6 Write the first five terms of each of the sequences in Exercises 1to 6

whose nth terms are:

nt4+5
p =N
Answer:
nt+4+5
="
Given : 4
a_1ﬁ+5_§_§
1=y T17 3
2ﬂ+5 18 9
o = = e— == =
. 4 1 2
2 = A
: 9 3*+5 42 21
fdn = .  — T —
: 4 1 2
2+5 84
4 4
5245 150 75
fle = — P —
" 4 4 2
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Therefore, the required number of terms= 2

Question:7 Find the indicated terms in each of the sequences in Exercises 7 to 10

whose nth terms are:

a, = 4n — 3 a7, ay

Answer:

a, =4n — 3

putn = 17,

aj7 =4(17) =3 =68 —3 = 65
Put n=24,

agy = 4(24) —3 =96 — 3 = 93
Hence, we have @17 = 65 and asy = 93

Question:8 Find the indicated terms in each of the sequences in Exercises 7 to 10
whose nth terms are:

thy = E’T: iy

Answer:

2
n

. iy = =
Given : 2

Put n=7,
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72 49

fI,T e i
2! 128

49
Heence, we have =128

Question:9 Find the indicated terms in each of the sequences in Exercises 7 to 10

whose nth terms are:

Ay = (—1_)”']”.3,”1,

Answer:

Given : @n = (—1)""'n®

Put n =9,

ag = (—1)*19% = (1).(729) = 729
The value of @9 = 729

Question:10 Find the indicated terms in each of the sequences in Exercises 7 to 10

whose nth terms are:

n(n— 2)

ay = ——iay

n+3
Answer:

n(n— 2)

i, = —
Given : n+3
Put n=20,

20020 —2) 360
ﬂ-m = T
2043 23
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360

ay = ——
Hence, value of 23

Question:11 Write the first five terms of each of the sequences in Exercises 11 to 13

and obtain the corresponding series:

ay =3,a, =3a,_1+2 for all n > 1
Answer:

Given : @1 = 3.8y = 3ay—1+ 2 for ali n > 1
ag =3a3_1+2=3a; +2=3(3)+2 =11

ag = 3ag_1 +2=3a3 +2=3(11)+ 2 = 35
ay =3ay_ 1 +2=23az +2=3(35)+2 =107
a5 = 3as_1 +2 = 3aq + 2 = 3(107) + 2 = 323
Hence, five terms of series are 3: 11,39, 107, 323

Sories =3+ 11 4+354+ 1074+ 323 4 coviiiinnns

Question:12 Write the first five terms of each of the sequences in Exercises 11 to 13

and obtain the corresponding series:

Ty

a; =—1,a, = n=>2
n
Answer:
ly—1
: ag =-1a,=—,n>2
Given : n
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L o . | Iy —1
ﬂ,z = = —i—
2 2 2
(-1 iz —1
fAnp = =—— s e— T —
£ g 3 6
(g1 ag —1
{,[,_.1 = ee—m = — = —
4 1 24
fl5—1 g —1
[15 — = —_ — = —
) D 120
-1 -1 -1 -1
Hence, five terms of seriesare 2  —6 24 120
Series
-1 -1 —1 —1
=-1+ + T NN

Question:13 Write the first five terms of each of the sequences in Exercises 11 to 13

and obtain the corresponding series:; @1 = 12 = 2,8, =Gy —1,n>2
Answer:

Given: @1 =y =20, =a, 1 —1,n>2

g3 =€31—1l=ap—1=2—-1=1

gy =41 —1l=a3—1=1—-1=10

s =05-1 —1l=a3—1=0—-1= -1

Hence, five terms of series are 2,2, 1,0, —1

Series =2+ 2+ 1 +0+(=1)+ orirviiiiiinnns
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Question:14 The Fibonacci sequence is defined

by | = a1 = ap and a, = a,_1 + ap_a,n > 2

ﬂu-:-—]

Find a, ,forn=1,2,3,4,5

Answer:

Given : The Fibonacci sequence is defined

b‘.-f] =a) =ay and ay = @,_1 + ay_s.n > 2

3 = az—1 + az-3 =

s +ay=1+1=2

fly = 41 + 45 =tz + da
a5 = a5—-1 + AG5-2 = a4 + 43
(g = fg—1 + 52 = a5 + A4
41 2141
Forn=1 1= il
il ]
Gt ” H fl'-'
[ 25 n+1 _ 2+1 -
hy (13
| 3+
Forn=3 —=-"=
iy e
(sl G441
Forn=4, —/— = -
fly (g
Y (lg
Forn =5. n+1 _ 41 -
/™ ity
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24+1=3

3+2=5

54+3=38
1

= e 1
1
2

=—=2
|
_3
-
_3
5
8
5
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NCERT solutions for class 11 maths chapter 9 sequences and series-

Exercise: 9.2
Question:1 Find the sum of odd integers from 1 to 2001.

Answer:

Odd integers from 1 to 2001 are 1, 3,9, T...........2001.
This sequence is an A.P.

Here , first term =a =1

commeon difference = 2.

We know , @n = a + (n — 1)d

200l=1+(n-—1)2

= 2000=(n—1)2

= 1000=(n-—1)

= n= 1000+ 1 = 1001

i om %[za +(n—1)d]

= llﬂ[zm + (1001 — 1)2]

1001
= ——[2002]
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= 1001 = 1001
= 1002001
The , sum of odd integers from 1 to 2001 is 1002001.

Question:2 Find the sum of all natural numbers lying between 100 and 1000, which are

multiples of 5.

Answer:

Numbers divisible by 5 from 100 to 1000 are 1029 110, ... 995
This sequence is an A.P.

Here , first term =a =105

common difference = 5.

We know , @y = @t + (n— 1)d

995 = 105 + (n — 1)5

= 800 =(n—1)5

=% 178 ={h—1]

= n=178+1=179
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_ %[2(1[15] + (179 — 1)3]

{
s %[z(m:ﬁ) + 178(5)]

= 98450
The sum of numbers divisible by 5 from 100 to 1000 is 98450.

Question:3 In an A.P., the first term is 2 and the sum of the first five terms is one-fourth

of the next five terms. Show that 20th term is —112.
Answer:

First term =a=2

Letthe seriesbe 2:2+d. 24+ 2d, 24+ 3d. ....ccceenieiiie
Sum of first five terms = 10 + 10d

Sum of next five terms = 10 + 35d

Given : The sum of the first five terms is one-fourth of the next five terms.
1

10 4+ 10d = E[ID + 35d)

= 40 + 40d = 10 + 35d

= 40 — 10 = 35d — 40d

= 30 = —5bd
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To prove : @x = —112
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LHS:ap=a+(20—1)d=2+(19)(-6) =2 - 114 = —-112= R.H.S

Hence, 20th term is —112.

Question: 4 How many terms of the A.P. —6, -1 ljgr —9... are needed to give the sum

257
Answer:

Given ' AP.= —b, —1 1/{2 —9...

a = —06

-11 1
P e s
f 2 + 0 2

Given : sum = -25

e %[Er: +(n—1)d]

= —925 = E[z(-ﬁ] + (n — l]%]

= —50=n[-12+(n— 1]%]

H'-E i

= -H=-12n+———
2 2

= —100=-24n+n—-n

= n?—25n+100=0
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= n’—5n—20n+100=0
= n(n—>5)—20(n—->5)=0
= (n—=5)(n—20)=0
= n=2>5or 20.

Question:5 In an A.P., if pth term is 1/g and gth term is 1/p , prove that the sum of first
pq terms is 1/2 (pq +1), where P # ¢

Answer:

Given : In an A.P., if pth term is 1/q and qth term is 1/p

t’I_“=fI+|:jJ—1:|t'lr=—I: ................. (1)
o
1

ag =a+ (g—1)d = ;; ................. (2)

Subtracting (2) from (1), we get

= iy — Qg

1
= (;J—l]fi—(f;—l]n!:-l-——
q p

= pd—d—gdyd="12
Pq

= (p—g)d = |
Pq

|

— d= —
Py
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Putting value of d in equation (1),we get

a+|{g:r—1]li~=i

Py q

[ T
S a+-——=-
¢ pqoq

Hence,the sum of first pg terms is 1/2 (pq +1), where [ Fq.

Question:6 If the sum of a certain number of terms of the A.P. 25, 22, 19, ... is 116.

Find the last term.
Answer:
Given : A.P. 25, 22,19, ........
,‘:T” = lLﬁ
a=25,d=-3
2 i _
Sy = E[Eﬁ. + (n— 1)d]
1
= 116 = 72-[2(25) + (n—1)(—3)]
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= 232 = n[50 — 3n + 3]
= 232 = n[53 — 3n]
= 3n?—53n+232=0
= 3n? —24n — 290+ 232 =10
= 3n(n—8)—29(n—8) =0
= (3n—29)(n—8) =0

29
= n=2=~1or n:E

29
n could not be 3 so n=8.

Lastterm = as = a + (n — 1)d

=25+ (8 — 1)(—3)

=25—-21=4

The, last term of A.P. is 4.

Question:7 Find the sum to n terms of the A.P., whose %" term is 5k + 1.
Answer:

Given : ag = Sk + 1

= a+(k—1)d=5k+1

= a+kd—-—d=5k+1
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Comparing LHS and RHS , we have
a—d=1andd =5
Putting value of d,
a=1+5=6
. n
N = E[Eﬂ' + (n— 1)d]
1
S = E[Z(Ei] + (n —1)5]
Z[12 + 51 — 5]
S = 57+ 5n]

Question:8 If the sum of n terms of an A.P. is (P11 + qnzj , Where p and q are

constants, find the common difference
Answer:

If the sum of n terms of an A.P. is (p1 + EI"-EJ .
- %[2{1 +(n—1)d]

:»E[

- 2a + (n — 1)d] = pn + gn®
2 12a + nd = pn + gn?
= 2[ i+ nd — d| = pn 4+ gn

”2 ! .H'.ff @
(1t —_—i] — — = nn 1
= + 3 { 5 pn+gr

Comparing coefficients of n? on both side , we get
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The common difference of AP is 2q.
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Question:9 The sums of n terms of two arithmetic progressions are in the

ratio 91 + 4 : 9n <+ 6 _ Find the ratio of their 18th terms.

Answer:

Given: The sums of n terms of two arithmetic progressions are in the

ratio. on +4 :9n + 6

There are two AP's with first terms = @1 . @2 and common difference = dy, da

5[2a1 + (n— 1)dy] _ on+d
5(2ay + (n — 1)ds]  O9n+6

=

20y + (n—1)dy  5n+4
2ap + (n — 1)dy ~ 9n+6

Substituting n=35,we get

2ay + (35 = 1)d, B 5(35) + 4

g + (35 — 1)dy  9(35) + 6
. 2ay + 34dy  5(35) + 4

2ap + 34dy ~ 9(35) + 6

s 1 T+ 1?d1 o 179
ag+17dy 321
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Thus, the ratio of the 18th term of AP's is 179 : 321

Question:10 If the sum of first p terms of an A.P. is equal to the sum of the first q terms,

then find the sum of the first (p + q) terms.
Answer:
Let first term of AP = a and common difference = d.
Then,
=120+ (p— 1)d]
S, = %[Za—f— (q—1)d]
Given : Sp = ¢
=L [Zr: +{p—1)d] = [Bu+ q— 1)d]
= p[2a+ (p—1)d] = gq[2a + (¢ — 1)d]
= 2ap + pzrf — pd = 2aq + qzrf —
= 2ap + p*d — pd — 2aq — ¢*d + qd = 0
= 2a(p—q) +d(p’ —p— ¢’ +q) =0
= 2alp—q) +d((p—q)p+q) — (p—1q)) =
= 2alp—q) +dlp-a)p+q—1)] =

= (p—q)2a+dp+q—-1)] =0
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= 2a+dp+g—1)=0

=dp+qg—1)=—2a

—2a
=d=
p+q-—1
oo .
Now, S(p+q) = T[zu ka7 — 1l
P+, —2a
2 122+ (pq jp+q—}]

= Pzﬂ['ﬁm + (—2a)]

=2 o) =0
2

Thus, sum of p+q terms of AP is 0.

Question:11 Sum of the first p, q and r terms of an A.P. are a, b and c, respectively.

Prove that

b
Hg—r)+-(r—p)+—(p—q) =
P q r

Answer:

i b [
_{q—f'1+—{f'—ll']}*—{‘l'.i_l‘f}zn
To prove : P q "

Let @1 and d be the first term and the common difference of AP, respectively.

According to the given information, we have
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Sy g[zm +(p—1d =a

201
= 2a1+ (p—1)d] = —.ccon (1)
1'.1‘

S, = g[2a1—|—(q—1]d] —b
= (21 + (g = 1)d] = 2{—? ............ (2)

S, = %[2&1—!—[4*'—1]05] =

= [2a1 + (r — 1)d] = 2}—( ............ (3)

Subtracting equation (2) from (1), we have

:t»[;:—L]rﬁ—[rf—lllfJ':E—z—bﬂ
P ff
:‘>ff|:fl—f;—1+l]=M
P
2(ag — b
:’;:d[p—q;l:M
Py

2(aq — bp)
pylp — q)

= d=

Subtracting equation (3) from (2), we have
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=5 (= Tl e ) ol 0 . B

q T
‘ '|| i v

= d(g—r— o ) it~ )
r'I,F'

=5 il SO0

ff]'
s 2(br — gc)
qr(q —r)

Equating values of d, we have

2(ag — bp)  2(br — qc)
pip—q) * arlg—71)

:}-ff:

2(aq — bp) - 2(br— ge)
pap—q) qrig=r)

= (ag —bp)griq—r) = (br —qc)pg(p — q)
= (ag —bp)r(g —r) = (br — ge)p(p — g
= (agr —bpr)(q—r) = (bpr — pgc)(p — q)

Dividing both sides from pgr, we get
a b b ¢

=2 (=—=Mg—-1)=(-—=)p—9)
P q q T
a l ¢
= —(g—r)—-(gq—r+p—q)+-(p—q) =0
P i r
=5 E(r;—r]—E[p—r}-l-E(p—rJr]=H
E) fI r
i b e
= —(g—r)+=-(r—p)+=-(p—q) =0
P o r
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Hence, the given result is proved.

Question:12 The ratio of the sums of m and n terms of an A.P. is m? : n? . Show that

the ratio of mth and nthtermis (2m — 1) : (2n — 1)
Answer:

Let a and b be the first term and common difference of a AP respectively.

Given : The ratio of the sums of m and n terms of an A.P. is m? : n° .

To prove : the ratio of mth and nth term is (2m — 1) : (2n — 1)

sum of m terms m?

2

" sumofnterms n

5 [2a+ (m — 1)d] A m?
F2a + (n— 1)d] " n?

204+ (m—1)d m

2a + (n —1)d "

!

Putm =2m —1and n = 2n — 1, we get

2a 4+ (2m—2)d  2m —1
20+ (2n —2)d  2n—1

a+(m—1)d 2m-1
a+(n—1d 2n-—1

From equation (1) ,we get
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Hence proved.

Question:13 If the sum of n terms of an A.P. is 31 + 51 and its m!" term is 164, find

the value of m.

Answer:

Given : If the sum of n terms of an A.P. is 3n” + 5n and its m!" term is 164
Let a and d be first term and common difference of a AP respectively.
Sum of n terms = 3n” + 5n

=4 g[ﬁa—l— (n —1)d] = 3n® + 5n

= 2a+ (n—1)d=6n+10

= 2a+nd—d=06n+ 10

Comparing the coefficients of n on both side , we have

= d=2=6

Also,2a —d =10

= da—6=10

= 2na=104+6
= 2a=16
= a=2=5
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m th term is 164.
= a+ (m—1)d = 164
= 8+ (m—1)6= 164
= (m—1)6= 156
= m-—1=26
= m=204+1=27
Hence, the value of m is 27.

Question:14 Insert five numbers between 8 and 26 such that the resulting sequence is

an A.P.
Answer:

Let five numbers be A.B,C,D.E.

Then AP =8,4,B,C,D, F, 26

Here we have,

= a+ (n—1)d = a,
= 84+ (7T—1)d =26

= 6d =18
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Thus,wehave A =a+d=8+3 =11
B=a+2d=8+(2)3=8+6=14
C=a+3d=8+(3)3=8+9=17

D=a+4d =84 (4)3 =8+ 12 =20

Thus, the five numbers are 11,14,17,20,23.
a + H"

Question:15 If a1 + " ! is the A.M. between a and b, then find the value of n.

Answer:
f.!n + :';n
Given : " ! + " ! is the A.M. between a and b.

a + " a-+ b
a” 1 1y 1 = 2

= 2(a" +b") = (a+1b) [a"_l -+ b"_l)

= 2(1” 4+ 2|’:r” = I!'r[.|Ir + I!T..EJ”_:I + b.ﬂ-”_i + b“
= 20" + 20" —a@" — " = a.b™ + b.a™!
=y

— " +bﬂ e t‘l.b"_l +I'J.|:‘1n

P ) ﬂ_n—i - b”_i —
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= @ Ya—b)=b"Ya—b)

”_u—] . hu—]

Il

= 1= I
Thus, value of nis 1.

Question:16 Between 1 and 31, m numbers have been inserted in such a way that the
resulting sequence is an A. P. and the ratio of 7" and (m — Um numbers is 5 : 9. Find

the value of m .

Answer:

Let AB,C........M be m numbers.
Then, AP =1,A,B,C..........] \l, 31
Here we have,
a=1,0ns=3ln=m+2

= a+(n—1)d=a,

= 1+{m+2—-1)d =31

= (m+1)d =30
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Given : the ratio of 7" and (1 — 1:'”' numbersis 5: 9.

a+ (7)d B D
a+(m—1)d 9

gy 1+7d 5
1+ (m—1)d 9

= 9(1+4+7d) =5(1+ (m—1)d)
= 04 63d =5+ bhmd — 5d
Putting value of d from above,

= 94 63( 30 ] +Bm 30 < 30
L, |1 =1 f I3 —_ e
m 1 ! m-+ 1 : m+ 1

= 9(m+ 1)+ 1890 = 5(m+ 1) + 150m — 150

[y |

= 9m+ 9+ 1890 = dm + 5+ 150m — 150
= 1890+ 9 — 5+ 150 = 155m — 9m

= 2044 = 146m

= m=14

Thus, value of mis 14.

Question:17 A man starts repaying a loan as first instalment of Rs. 100. If he increases

the instalment by Rs 5 every month, what amount he will pay in the 30th instalment?
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Answer:
The first instalment is of Rs. 100.
If the instalment increase by Rs 5 every month, second instalment is Rs.105.
Then , it forms an AP.
AR = 100 TR T L TR i
Wehave ,a = 100 and d =5
an =a—+ (n—1)d
agy = 100 + (30 — 1)5
agy = 100 + (29)5
azy = 100 + 145
gy = 249
Thus, he will pay Rs. 245 in the 30th instalment.

Question:18 The difference between any two consecutive interior angles of a polygon

is 5. If the smallest angle is 1207, find the number of the sides of the polygon.
Answer:
The angles of polygon forms AP with common difference of 5° and first term as 120° .

We know that sum of angles of polygon with n sides is 180(n — 2)
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= 150 R —2)

= %[Zu + (n —1)d] = 180(n — 2)

= %[2(12::) + (n—1)5] = 180(n — 2)
= 1n[240 + 5n — 5] = 360n — 720

= 235n + 5nt = 360n — 720

= Hn®— 125n + 720 = 0

= n?—25n+ 144 =10

= n?—16n—9n+ 144 =0

= n{n—16) —9(n — 16) =0

= (n—16)(n—9) =0

= n=0,18

Sides of polygon are 9 or 16.

NCERT solutions for class 11 maths chapter 9 sequences and series-

Exercise: 9.3

=

"-".1 on
ool e

Question:1 Find the 20" and n'" terms of the G.P. 2’

Answer:
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]
it 1
. -%'- — E
ay = a.r" !
E o
il l r
_ 9 dian—
oy = 5 (2:'
lrj l
flyn = '2"("2"17;]
i)
fton = 220
(y, = ph—1
5 1 n—1
=g (5)
b 1
n = 5'2?1—1

D

2n the nth term of G.P

Iy =

Question:2 Find the 12t term of a G.P. whose 8" term is 192 and the common ratio is

2
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Answer:
First term = a
common ratio =r=2
8t term is 192

Ry = a1

g = fI.[_E)E"]
192 = a.(2)7
283

= "ol
3
==
2
ay = ar™?
3
i oyl
12 2': )
3
i D 11
2 2( )
agy = 3.(2)"

a1z = 3072 js the 12'" term of a G.P.

Question:3 The 5. 8" and 11" tgrms of a G.P. are p, g and s, respectively. Show

that 4> = ps

Answer:
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To prove : "IE = Ps

Let first term=a and common ratio=r

ag = a.rt = PG OR D (1)
A8 = 0.7 = Guerevcrereiiannn, (2)
By = D (3)

Dividing equation 2 by 1, we have

i, PO
t’l.?"4 r
= 'f':i = E

Iy

Dividing equation 3 by 2, we have

ﬂ-.rlﬂ &
ar’ g
: 5

= !"I = =
f

q s
P ff
:>r12=p.ﬁ'

Hence proved
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Question:4 The 4" term of a G.P. is square of its second term, and the first term is -3.

Determine its 7'" term.

Answer:
First term =a= -3
4" term of a G.P. is square of its second term

= a4 = (ag)?

N
f
I
|
Cad

T

= a7 = (—3)" = —2187
Thus, seventh term is -2187.
Question:5(a) Which term of the following sequences: 2 2v2,4.,....is 1287

Answer:

O o o £ 1.0 6. SR

242
a=2 and r=T{=\/§
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n th term is given as 128.

Ry = a1

= 128 = 2.(v2)"!

= 64 = (v/2)"1

= 96— (y/2)n-!

= Vi = (V2!

=% Me—l:=:13d

=n=1241=13

The, 13 th term is 128.

Question:5(b) Which term of the following sequences: V3,3,3V3, ...is 7297
Answer:

Given: GF = v3.3,3V3. ........

a=vV3 and r:%:x/ﬁ

n th term is given as 729.

i Ji—1
H.“ = .1

= 720 = v/3.(V3)" !

= 729 = (v/3)"
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=n=12

The, 12 th term is 729.

13 3 1
clie oo T >
Question:5(c) Which term of the following sequences: 3 9 27 19683
Answer:
I, 5 s
) GP=—-.— . —..cccoiiinn
Given : 39 27
|

n th term is given as 19683
ap = a.r" ]
= 1 — EI(EJM—I

19683 33

1 1

= —= —

19683 3n

| |
==

3” :_I“
=n=>9
Thus, n=9.

2 7

Question:6 For what values of x, the numbers 7'~ 2 arein G.P.?
Answer:
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Common ratio=r.

= H:.

I
N
|

— :T2 =3

= ¥ = :t[
Thus, for * = =1 ,given numbers will be in GP.

Question:7 Find the sum to indicated number of terms in each of the geometric

progressions in 0.15, 0.015, 0.0015, ... 20 terms.
Answer:

geometric progressions is 0.15, 0.015, 0.0015, ... ...

a=0.15,r=0.1,n=20

Sy = gt —r7)
l1—7r
C 01501 —(0.1)%)
:52” =
1 —0.1
0.15(1 — (0.1)%)
Sy =
A 0.9
0.15
Higi= ~—9J(1 — (0.1)2)
Sy = _1_'_[1 — (0.1)%)
=
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Question:8 Find the sum to indicated number of terms in each of the geometric
progressions in V7, V21,3V, ...n terms

Answer:
G e T2 v T,
a = \/:F_ and r= — = v’ﬁ

SIS

i o all —r™

L —

4 _ﬁ[l—ﬁnj

R l—\,/ﬁ

o _VI1-V3) 1+V3
T 1-43 : 14+%/3
R LA LRI
g M[ﬁ” 1)

2

Question:9 Find the sum to indicated number of terms in each of the geometric

— 2 .3 :
progressions in —@, a°, —a’, ..nterms{ifa # —1)
Answer:

The sum to the indicated number of terms in each of the geometric progressions is:
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a=1 and r = —a
g fﬂ:l = f‘“j
T

5 _ 10

1—(—a)

5 _ 10— (=0

l4+a

S, = 1 —(—a)”

1+a

Question:10 Find the sum to indicated number of terms in each of the geometric

progressions in .1'3.. .i"r'l. n tf:‘]"”t-ﬁ(if T = +H

Answer:

5
a =1 and r = .1"_3 — 72
T
) ”_['l — f'“:l
Lo
8 .F':I{l - (.i‘zj"]
on = 1 - .i!'g
3(1 — ™)
= 1— .1'"2

(2439
Question:11 Evaluate =1
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Answer
Given
1
(2 + 3%)
k=1
11 11 11
(2+3) =) 2+ 3
k=1 k=1 k=1

These terms form GP with a=3 and r=3.

} all —r"
":"‘:r o _I:'—)"
l1—-r
3(1 — ! 11
O = ___...“ 3 ]I
-
3134
5 _30-3"
—2
" 11
" " =i g fJ:.-
2 k=1
11
(243 _ o, L 3@ -1)
k=1 2

39
Question:12 The sum of first three terms of a G.P. is 10 and their product is 1. Find the

common ratio and the terms.
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Answer:
39
Given : The sum of first three terms of a G.P. is 10 and their product is 1.

il
-, a, ar

Let three terms be r

< a(l — r™)
Op =
1—1
5 — a(1 — r¥) 39
l—r 10
R,
—+a+ar = —,
r 10

Product of 3 terms is 1.

a1
- xXxaxar =1
=

Put value of a in equation 1,

1+1+ il
— = —
r 10

10(1 4 r + %) = 39(r)
= 1012 = 208 4+ 10 = 0
= 10/ — 25r —dr + 10 =0

= 5r(2r —5) —2(2r—5) =10
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= (2r —5)(br —2) =0

= r=

[ Sl Wl
| bI

1.

ba | e
el b

The three terms of AP are 2

Question:13 How many terms of G.P. 3-3°.3" | ___ are needed to give the sum 120?

Answer:

GP= 31 321 33 R e R

Sum =120

These terms are GP with a=3 and r=3.

y T
s, — a(l —r")
1-r

3(1 —3")
) = —
4 1-3

120 x _—2=(1—3”)
3

—80 = (1 — 37)

= 3" =1+ 80 = 8l

=% 3% =81
= =3
= n=4
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Hence, we have value of n as 4 to get sum of 120.

Question:14 The sum of first three terms of a G.P. is 16 and the sum of the next three
terms is 128. Determine the first term, the common ratio and the sum to n terms of the

G.P.
Answer:
Let GP be a. ar. ar?, ar®, m*‘]__ ar® ar...iiinio.

Given : The sum of first three terms of a G.P. is 16

e
a+ar 4+ ar® = 16

Given : the sum of the next three terms is128.

ar® + ar + ar® = 128

= ar? (1 4+ 74+ 72) =128 (2)
Dividing equation (2) by (1), we have

arS(1+r+r%) 128

a(l +r+ r?) 16
— ¥ =8
-
= =g
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Putting value of r =2 in equation 1,we have
= a(l+2+2%) =16

= a(7) = 16

B(1-2m)
1 -2
16

5 {08 ]
=k )
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Question:15 Given a G.P. with a = 729 and 7" term 64, determine 57

Answer:

Given a G.P. with a = 729 and 7" term 64.

Ry = a1

= 64 = 729,57

a_ 84
729
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S7=(3"-2")
Sy = 2187 — 128
S7 = 2059 (Answer)

Question:16 Find a G.P. for which sum of the first two terms is — 4 and the fifth term is

4 times the third term

Answer:

Given : sum of the first two terms is — 4 and the fifth term is 4 times the third term
Let first term be a and common ratio be r

as = 4.ay

51

= a.r 2 ~1.H-.J‘H"]
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If r=2, then

. a(l—-r"
Sy = :
1—r

a(l — 22)
1-2
a(l —4)

=5 B ¢ _ousg
—1

= —4

= a(—3) =4

= 1= —
3

Ifr=-2, then

Sp = fﬂ:l - -““j
1—r
a(1 —(~2)*)

= 1_[_2] = —4

~ n(l —4)
3

=g

= a(—3) =-12

i

== —=41
—3

—4 -8 —16
Thus, requiredGPis 3 3~ 3 =~ ord,—8,-16,-32, ..........

Question:17 If the 4", 10", 16" terms of a G.P. are x, y and z, respectively. Prove

that x,y, zare in G.P.
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Answer:

Let x,y, z are in G.P.

Let first term=a and common ratio =r

(g = Q.T° = Tevrvrrerreranna, (1)
10 = G.1Y = Yoorrirsisinissaans (2)
815 = AT = Ziidiesiesnens (3)

L I

0| e

Equating values of 1, we have

Yy

£

| e

Thus, x,y,z are in GP

Question:18 Find the sum to n terms of the sequence, 8, 88, 888, 8888... .
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Answer:

8, 88, 888, 8888... is not a GP.

It can be changed in GP by writing terms as

S, =8+ 88+ 88848888+ ............. to n terms
8
b,,:a[ﬂ+flﬂ+ﬂﬂﬂ+!_’iﬂﬂﬂ+ ................ ]
i _8 \ - 112 5 ;J;_ b .j_
.a,t_;j[uu 1)+ (105 — 1) + (10° — 1) + (10* — 1) F corvvmneranaenns |
8
5,t=§[[1a+1mz+m3+ ........ B (1414 1., ]
; 8 10(10™" = 1)
Sy = =-[———— —(n
n [ 0 —1 ()]
8 10(10" — 1)
5, = [ — (n)]
5,1—@(1[:”—1)—8—”
81 9

Question:19 Find the sum of the products of the corresponding terms of the sequences

2,4, 8, 16, 32 and 128, 32, 8, 2,1/2
Answer:

1
Requiredsumzzx128+4x32+8x8+15x2+32>~:§

(N
Required sum =64 4+ 2+ 1+ 3 + 57

b

foY
b
o

t~..-‘l —

b | =

Here, is a GP.
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first term =a=4

common ratio =r

1
.

2

a1l =7")
T 1w

401 — 1 A8
g = 401 (]2))

L=3
11— (")

31

Sr: E——

5 = B8i35)
.
=G

31
Required sum = 64 [?]

Required sum = 16 x 31 = 496

Question:20 Show that the products of the corresponding terms of the

sequences @ ar,ar’ .ar" ! and A, AR, AR*...AR"" form a G.P, and find the

common ratio.
Answer:

To prﬂve ; l’.l_—L l‘“'_—iR_ I‘H'E_{RE, ................... isaGP.
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second term ar AR B
= ——. b5
first term a

third ter: ,2_4172
nrd term _ (1 I

second term ar AR

Thus, the above sequence is a GP with common ratio of rR.

Question:21 Find four numbers forming a geometric progression in which the third term

is greater than the first term by 9, and the second term is greater than the gt by 18.
Answer:
Let first term be a and common ratio be r.

2 3

4y = @, 4y = ar, a4y = GE 84 — ar

Given : the third term is greater than the first term by 9, and the second term is greater

than the 4'"by 18.
(g =1 + 9

:}ar2=r1+ﬂ

ay = ay + 18

= ar = ar® + 18
= ar(l — 1) =18, 2

Dividing equation 2 by 1, we get
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ar(1 —r?) 18

—a1-7%) 9
=r=-—2
Putting value of r , we get

da =a+9

= da—a="9

= 3a=9

=N §=3

Thus, four terms of GP are 3, —6, 12, —24.

Question:22 If the Pmy l?”‘: i terms of a G.P. are a, b and c, respectively. Prove
thata? "0" PCP 1 =1

Answer:

Toprove :a?¥ b PCP 1 =]

Let A be the first term and R be common ratio.
According to the given information, we have
fp = ARFl=q

ag=ART! =

a, = AR 1=¢
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LH.S: a7 Ty PCP T
— 49" _pla-rip=1) gr-p pir-ple-1) gr-q plr-qir-1)
= AT-THr=ptp=q Rlap=rp=q+T)+{rq-petp=r)+{pr-p-gqr+q)
= A" RY = 1=RHS
Thus, LHS = RHS.
Hence proved.

Question:23 If the first and the nth term of a G.P. are a and b, respectively, and if P is

the product of n terms, prove that 2* = (ab)" |
Answer:

Given : First term =a and n th term = b.
Common ratio =r.

To prove : P* = (ab)"

P = product of n terms

P= I:_”']'(_flrj-l:_f”‘gjl.(f:,f‘ﬂj IIIIIIIIIIIIII Iif.”.u—];l
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SUmM = % [2a + (n — 1)d]

=”2_1[2[1]+[n—1—1)1]
:”I—;lu[2+u.—2]
=”|—;1-[u.]

~nln—1)

2

Put in equation (2),

P? = (a2)(r"n)
-7 - UL”_J.:au—JjJ,,
P? = (a.b)"

Hence proved .

Question:24 Show that the ratio of the smfm of first n terms of a G.P. to the sum of

terms from (1 + 1) to (2n)"" term is 7
Answer:
Let first term =a and common ratio = r.
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1 — "
sum of n terms = u
1—71
Since there are n terms from (n+1) to 2n term.

Sum of terms from (n+1) to 2n.

A{n +1) [I = rn)

P 1—r
in+1) = a.rtti=l — gpn
a(l — ") l—r
- . =M I
Thus, the required ratio= 1 —7 ar®(1 —m")
1

Thus, the common ratio of the sum of first n terms of a G.P. to the sum of terms
1

from (n + 1) to (2n)™" tormis 1 .

Question:251fa, b, cand d are in G.P. show
that (@® + b2 + ) (6% + 2 + d®) = (ab + be + ed)?.

Answer:

Ifa,b, cand d are in G.P.

e T e (1)
b2 = e, (2)
LI Y (3)

To prove : (a® + 02+ )+ 2+ d®) = (ab + be + cd)?.
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RHS - (ab + be + r.‘rt'sz.
= (ab + ad + ed)?.
= (ab + d(a + ),
= a?b? + d*(a + c)? + 2(ab)(d(a + c))
= a?b? + d*(a® + * + 2ac) + 2abd + 2bcd
Using equation (1) and (2),
= a?b? + 2a’c? 4+ 222 + d2a’ + 24207 + 4P
= a’b? + a®c® + a’? + V2P + b + P a? + A + 20 + 2P
= a?b® + a’c? + ad® + B2.0% + b2e® + V2P + 0% + . + P
—a?(P+ A+ )+ A+ A+ ) + AP+ P+ )
=P+ P+ d%)(a® + 0+ ) =LHS
Hence proved

Question:26 Insert two numbers between 3 and 81 so that the resulting sequence is

G.P.
Answer:
Let A, B be two numbers between 3 and 81 such that series 3, A, B,81 forms a GP.

Let a=first term and common ratio =r.
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a4=a.r4_1
81 =3.r°
27 =13
Fi—ih
Forr =3,

A=ar=(3)(3)=09
B=ar’=(3)(3)?2=27

The, required numbers are 9,27.
ﬂ"T] + bn+l
Question:27 Find the value of nso that @" + 0"  may be the geometric mean

between a and b.
Answer:

Mofaandbis Vab.

Given :
n+1 n+1
i1 +b
—_— = Vab
”.il + h!l

Squaring both sides ,

4 4 2
at 1 4 pnt 1
—_— | =ab
a™ + hn
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(an—'rl E bn—:1jz _ (a" 1 bn)z ab
= (”_EHE + p2ntd g gt .I!J”+j:| = {u.g” + b2 4 E.f:”.b”} ah
= (”.EIT"I'Z + binﬂi—i 1§ 2.f!-”+] .E.I”le : - Iif.r,g""'l.r'; 1y “Ibgil-l-l + E.ft""i'l.h”T'l}
= (aE’HE + 622 = (a® 1 h + a.b}”"—:l}
= qnt2 _ gintl p g p2ntl _ p2n42
= a®t(a — b) = b*"*(a—b)

= a2n+1 _ bEn-‘.—l

O

- (31 )
=2n+1=10

= 2n = —1

-1
= N=—

Question:28 The sum of two numbers is 6 times their geometric mean, show that

numbers are in the ratio (3 + 2v/2) 1 (3 — 2v2)
Answer:

Let there be two numbers aand b

geometric mean = Vab
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According to the given condition,

a+ b= 6vab

(a+0)2=36(ab) e ()
Also, (@ — b)2 = (a + b)? — dab = 36ab — 4ab = 32ab
(a —b) = vV32vab

(a—b)=4v2¥ab i 2)
From (1) and (2), we get

2a = (6 + 4v2)Vab

a = (3+2v2)Vab

Putting the value of 'a'in (1),

b= 6vab — (3 + 2v2)Vab

b={3— 2\/’5]@

a  (3+2v2)Vab
b (3—2v2)Vab

a  (3+2V72)

b (3—2V2)

Thus, the ratio is (3 + 2v/2) : (3 —2V2)

Question:29 If A and G be A.M. and G.M., respectively between two positive numbers,
prove that the numbers are ! = V(A+G)(A-G)
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Answer:

If A and G be A.M. and G.M., respectively between two positive numbers,

Two numbers be a and b.

e SN s

GM =G = Vab

We know (@ — b)? = (a + b)® — 4ab
Put values from equation 1 and 2,

(a —b)? = 44% — 4G?

(a —b)? = 4(4% - G?)

(a—b2=4(A+G)(A-G)

(a—b)=4/(A+G)(A-0G) S & . . . .3

From 1 and 3 , we have

20 = 24+ 24/(A + G)(A - G)

= a=A+/(4A+G)(A-G)

Put value of a in equation 1, we get
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b=24—A—/(A+G)(A-G)

=2 b=A-/(4+G)(4-G)

Thus, numbers are - = VA+GI(A-G)

Question:30 The number of bacteria in a certain culture doubles every hour. If there
were 30 bacteria present in the culture originally, how many bacteria will be present at

the end of 2nd hour, 4th hour and nth hour ?

Answer:

The number of bacteria in a certain culture doubles every hour.It forms GP.
Given : a=30 and r=2.

ag = ar®1 = .'5!](2)2 = 120

as = a.r*! = 30(2)* = 480

an+1 = a.r"17 = 30(2)"

Thus, bacteria present at the end of the 2nd hour, 4th hour and nth hour are 120,480
and 30(2)" respectively.

Question:31 What will Rs 500 amounts to in 10 years after its deposit in a bank which

pays annual interest rate of 10% compounded annually?

Answer:

Given: Bank pays an annual interest rate of 10% compounded annually.
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Rs 500 amounts are deposited in the bank.

At the end of the first year, the amount

l \
=500|14+—] =29500{1.1
) ( + HJ) H00(1.1)

At the end of the second year, the amount = 200(1.1)(1.1)

At the end of the third year, the amount = 300(1.1)(1.1){1.1)

At the end of 10 years, the amount = 500(1.1)(1.1)(1.1)........ (10times)
— 500(1.1)1

Thus, at the end of 10 years, amount = /t5.500(1.1)'

Question:32 If A.M. and G.M. of roots of a quadratic equation are 8 and 5, respectively,

then obtain the quadratic equation
Answer:
Let roots of the quadratic equation be a and b.

According to given condition,

a+b B

AM = =8

= (a+b) =16
GM =+vVab=5

= ab = 25
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We know that > — #(sum of roots) + (product of roots) = 0
7? — z(16) + (25) =0
1? — 162 + 25 =0

Thus, the quadratic equation = 7% — 162+ 25 =10

NCERT solutions for class 11 maths chapter 9 sequences and series-

Exercise: 9.4

Question:1 Find the sum to n terms of each of the series

inlx24+2x34+3x44+4%x5+...
Answer:
theseries=1 x2+2x3+3x4+4 x5+ ...

nthterm=n(n+1)=a,

n n
Sp=) ar =) k(k+1)
k=1 k=1
n Ll
K +Y k
k=1

nln+1)(2n +1) N nin+1)
6 2
s nin+1) (['Eu.—b— 1) § l)

2 3

f=1
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B n[n;— 1) ((m +31 +3))

B nin+1) (['211. - 1))
N 2 3

=n(n+1) ([“: 2])

nin+1)(n+2)
3

Question:2 Find the sum to n terms of each of the series

inl x2x3+2x3x4+3x4x5+..
Answer:

theseries=1 X2 x 3 +2x3x44+3x4dx5+..
nthterm =n(n + 1)(n + 2) = a,

af=2}m=§:mk+nm+2]
k=1 k=1

n

n [
K +3) K +2) k
k=1 k=1

nn+1)1% 8ar+0)02r+1) 2a(n+1)
2 + § * 2

=]

(n(n+1)] : n(n+1)(2n+1)

= T‘_ + 5 +nin+1)
_ _n[ng—}— 1)] [n(nz—i—lj F@na1)+2)
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n(n+1)] (n2+n+4n—|—2—|—4)
2

[(n(n+1)] (”2 + On + [i)

e 2
= ﬂf”l;”, (n* + 5n + 6)

= ”(”4—“%] (n* + 2n + 3n + 6)
= ”f”_1+11 (n(n +2) + 3(n + 2))
— M ((n+2)(n+ 3))

n(n+1)n+2)(n+ 3]}
4

Thus, sum is

- nin+ Din+2)(n+ 3]]
B 1

Question:3 Find the sum to n terms of each of the

series 3 x 12 +5 % 22 4+ 7 x +.... + 202
Answer:

theseries 3 x 12 +5x 22+ 7 x +.... + 20%

nthterm=(2n + 1)(n?) = 2n® 4+ n? = q,

n

n
S = Z (), = Z 23 + k2
k=1

k=1
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=2 i: 3+ i: &2
k=1 k=1

[1:.[:14— LJ:IE P nin+1)(2n+1)

2 (i

4 n(n + LL{ZM +1)

(2n + 1)

s

= |—| (nln+1) +

(n(n+1)] 3n?+3n+2n+ 1)
2 B

(n(n+1)] (3n®+5n + 1)
2 3

_ nln+ 1)(3n% + 5n + 1)
6

Thus, the sum is

~ nln+ 1)(3n% +5n + 1)
0

Quesl.tinn:d Find the sum to n terms of each of the series

+ + +
inlx2 2x3 JFx4

Answer:
Series =
1 " 1 " | x
I1x2 2x3 3Ixd
1 1 1
nlterm = —— = = —

nn+1) n n+1
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1 1
== v v e
YT
| 1
e
79 3
1 1
g == — —
T34
{ 1 [
by == T e
" 1 n+1
+az +az + 1 1
(] = 02 T 03 T i s 5 1 B n+1
n+1-=1
S, = —
n-+1
g __™M
= n+ 1

Hence, the sum is

1

Sy =
i n + l

Question:5 Find the sum to n terms of each of the series in 52462+ 724 ... + 202
Answer:
series =52 + 62 + 72 + ... + 202

nthterm=(n +4)? = n? + 8n + 16 = a,

Jt n
Sy = Zﬁfﬁ' = Z”L = = "'”2
k=1 k=1
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I
et
[}
+
oo
=
_|_
[—
=}

+ 16n

nin+ 1)(2n+1) i S.n(n+1)
[i i

16th term is (16 + 4)% = 20?

S 16(16 + 1]|ﬁ|[2[1ﬁ]|+ D, 8.(15)(21ﬁ+ i, 616)

Sig = ui(lit’ijfaaj = S.KIEEHIT]I +16(16)

S = 1496 + 1088 + 256

Sis = 2840

Hence, the sum of the series 52 + 62 + 72 + ... + 20% is 2840.

Question:6 Find the sum to n terms of each of the

series 3 Xx8+6x 11 +9x 14+ ...

Answer:

sgriecs =3 X B4+06x114+9% 14 4 ..

=(n th term of 3,6,9............) X (nth terms of 8,11,14,..........)

nthterm=3n(3n + 5) = a, = 9n® + 15n

Tt n
8, = Z ap — Z 3k(3k + 5)
k=1 k=1
- !]i:k-2+ mzn:k-
k=1 k=1
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9n(n+1)(2n+ 1) . 15.n(n + 1)
G 2

3n(n+1)(2n+1) 2 15.n(n + 1)
2 2

1+ 1
- # (3(2n + 1) + 15)

=M[zn+1+5)

dnln+ 1
=—if-};—j-lf2n+h]

_ -3.1']‘.[:!;-}— 1) 2. (n+3)

=3n(n+1)(n+3)
Hence, sumis = 3.n(n + 1) (n + 3)

Question:7 Find the sum to n terms of each of the series
inl2+ (%428 (12422

Answer:

sares =12 (13429 + (1*+ 2% 150

& =T PGB st a1 Bakli@nl)
n th term = 5

n(2n® +3n + 1) - 2n3 + 3n? +n
6 a 6

g —Z'ﬂﬂ szuaﬁﬁ
k=1
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e £ k3 + E J:2 —|—E k

4 S 6=
_ nin+1) 2+ Il n(n+1)(2n+1) i 1 n(n+1)
- 3 2 1) 6 6 2
B ‘nin+1)] n(n+1) 2n+1 J.:I
k& 2 T2 T
_[nln+1)] [nz—i—n—r—Zn—i—I—r—lj
L B ] 2

(nn+1)] ,n2+n+2n+2
= . [ : )

| & 2

(n(n+1)] nin+1)+2(n+1)
= | FEE ¢ )

I . 2

(n(n+1)] . (n+1)({n+2)

- (e

[ n(n + lJEI:u + 2)
12

Question:8 Find the sum to n terms of the series in Exercises 8 to 10 whose nth terms

is given by 11(n + 1)(n + 4)

Answer:

nth terms is given by n(n + 1)(n +4)

an =n(n+1)(n+4) = u.[_u.z + 5n+4) = n® + 5n2 + 4n

S, = ap = E(k+1)(k+4)
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Il
o
5]
-+
o
o
b
-+
1%
T

dan(n+1)(2n+1) i dn(n+1)
2 i 2

I
+

hon D11
=== 4 ”’[”JFLH B 1) B 1)

nin+1 al2n +1
_[nn+ D] s D) 50 +1)
2 2 3

+4)

B (n(n+1)] 3n? + 3n + 20n + 10 + 24)
2 i

(n(n+ 1) (311,2 + 23n + 34)

T 6
-
- % (3n2 + 23n + 34)

Question:9 Find the sum to n terms of the series in Exercises 8 to 10 whose nth terms

is given by
Answer:
nth terms are given by n” + 2"

2, .
a, =n°+ 2"

Sﬂ = Z i = Z f;z + Z 2#

This term is a GP with first term =a =2 and common ratio =r =2.
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n
5, = Zkz +2{2% = 1]
k=1

nin+ J.‘,Llfzu, +1) 4

Thus, the sum is

n+1)(2n+1
- nin+ ]bl: 15 )—!-2(2"—1]

Question:10 Find the sum to n terms of the series in Exercises 8 to 10 whose nth terms
is given by (2n — 1)?

Answer:

2

nth terms is given by (21 — 1]

an=(2n—12=4n’+ 1 —4n

k=1 k=1 k=1
dnln+1)(2n+1) 4nn+1)
= — +n
§ 2
2n(n+1)(2n+1)

= 3 —2n(n+1)+n
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2ln+ 1)(2n + 1)

sgf 2 —2(n+1) +1]
dn* 4+ 6n+2—6n—6+3
= nf )
3
4n? — 1
= 1| 3 ]
(2n+1)(2n —1
e U1,

NCERT solutions for class 11 maths chapter 9 sequences and series-

Miscellaneous Exercise

Question:1 Show that the sum of and lm —n }”1 terms of an A.P. is equal to twice

the m'"term.

Answer:

Let a be first term and d be common difference of AP.
Kth term of a AP is given by,

ar =a+(k—1)d

Colpan=a+(m+n—1)d

Silmen =0+ m—n—1)d

Oy = a+ (m—1)d

Apin +nn=0a+m+n—-1)d+a+(m—-—n—1)d
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=2a+ (2m — 2)d
= 2(a + (m — 1)d)

= dig,

}th

Hence, the sum of (m + )™ and (m — ”Jm terms of an A.P. is equal to twice

the m'" term.

Question:2 If the sum of three numbers in A.P., is 24 and their product is 440, find the

numbers.

Answer:

Let three numbers of AP are a-d, a, a+d.
According to given information ,
a—d+at+a+d=24

3a = 24

= n==5

(a —d)ala + d) = 440

= (8—d)(8 +d) = 55

= (82 —d?) =55
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= (64— d?) = 55
= d?=64-55=9
= d= 33
When d=3, AP=5,8,11 also if d=-3 ,AP =11,8,5.
Thus, three numbers are 5,8,11.

Question:3 Let the sum of n, 2n, 3n terms of an A.P. be 51,52, 53 , respectively, show
that 53 = 3(52 — 51)

Answer:

Let a be first term and d be common difference of AP.

Sp = %[2{1 + (n—1)d] =Gt ... 1
2n

Son = ?[Ea + (20— 1)d] = S9uceeieiiiieeeiiaeneene 2
3In

Sop = ?”[Eﬂ-—l- 31— 1]d] = Sz¥..... SONNERIN . .... 3

Subtract equation 1 from 2,

Sy — 8 = Z—H[Ea + (2n—1)d] — %[Ea + (n— 1)d]

. %[ﬂlﬂ- + dnd — 2d — 2a — nd + d|
= T—;[En + 3nd — d|

g[ga—i—[Bn— 1)d]
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an
=

.'.3(52 —51] = 5 2a + (3n — 1]0:] = 53

Hence, the result is proved.

Question:4 Find the sum of all numbers between 200 and 400 which are divisible by 7.
Answer:

Numbers divisible by 7 from 200 to 400 are 203, 210, ............ 499
This sequence is an A.P.

Here , first term =a =203

common difference = 7.

We know , @n = @ + (11 — 1)d

399 = 203+ (n —1)7

= 196 = (n—1)7

= 28=(n—1)

= n=28+1=29

Su = [2a + (n—1)d]

= %9[2(2:13) + (29 — 1)7]

= 29 x 301
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= 8129
The sum of numbers divisible by 7from 200 to 400 is 8§729.
Question:5 Find the sum of integers from 1 to 100 that are divisible by 2 or 5.
Answer:
Numbers divisible by 2 from 1to 100 are 2,4, 6. 100
This sequence is an A.P.
Here , first term =a =2
common difference = 2.
We know , @n = @ + (n — 1)d
100 =2+(n—1)2
= 08 =(n—1)2
= 49 = (n—1)

= n=49+1 =50

S, = %[2{1 + (n — 1)d]

[2(2) + (50— 1)2]

N8

= X0002) + 49(2)

2

-
L—
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= 25 x 102

I

b
n
[y |
=

Numbers divisible by 5 from 1to 100 are 7. 10, 15............... 100
This sequence is an A.P.

Here , first term =a =5

common difference = 5.

We know , n = @ + (1 — 1)d

100 =5+ (n—1)5

= 95 =(n-—1)5

= 19=(n—-1)

S = %[Eﬂ' + (n— 1)d]

= 212(5) + 19(3)
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Numbers divisible by both 2 and 5 from 1 to 100 are
This sequence is an A.P.

Here , first term =a =10

common difference = 10

We know , @y = a + (n— 1)d

100 = 10 + (n — 1)10

= 90 =(n-1)10

= 9=(n—-1)

= n=9+1=10

e %Q[zuuj +9(10)

=5 x 110 = 530

. Required swm = 2550 + 1050 — 550 = 3050

Thus, the sum of integers from 1 to 100 that are divisible by 2 or 5 is 3050.
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Question:6 Find the sum of all two digit numbers which when divided by 4, yields 1 as

remainder.
Answer:

Numbers divisible by 4, yield remainder as 1 from 10 to 100
gy 10 I Wy smssdinmss a7

This sequence is an A.P.

Here , first term =a =13
common difference = 4.

We know , @y = a -+ (n— 1)d
97 =13+ (n—1)4

= 84 =(n—1)4

= 21=(n—1)
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=1 110
= 1210
The sum of numbers divisible by 4 yield 1 as remainder from 10 to 100 is 1210.

Question:7 If f is a function satisfying f (x +y) =f(x) f(y) for all X, y ¢ N such thatf(1)= 3

and

Z fla) =120
=]

, find the value of n.

Answer:

Given : f (x +y) =f(x) f(y) for all X, y ¢ N such thatf(1) =3
(1) =3

Taking = ¥ = 1  we have

fl+1)=f(2)=f(1)* f(1)=3%3=9

fA+1+1)=f(1+2)=f(1)*f(2) =3%x9=27
is 3,9, 27, 8L, o forms a GP with first term=3 and common

ratio = 3.
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o all—=r")
S
3(1 —3"
120 = A=y
13
= i e
—80 — 1 = (—3")

Therefore, n = 4

Thus, value of nis 4.

Question:8 The sum of some terms of G.P. is 315 whose first term and the common

ratio are 5 and 2, respectively. Find the last term and the number of terms.

Answer:

Let the sum of some terms of G.P. is 315 whose first term and the common ratio are 5

and 2
o afl—1")
S
qppe AL =2
1 —2
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SR R
—83 — 1.=(—2"
—64 = (—2")

2" = 64

Therefore, n = 6

Thus, the value of n is 6.

Last term of GP=6thterm = a.r™ ! = 5.2° — 5% 32 = 160
The last term of GP =160

Question:9 The first term of a G.P. is 1. The sum of the third term and fifth term is 90.

Find the common ratio of G.P.
Answer:

Given: The first term of a G.P. is 1. The sum of the third term and fifth term is 90.

a =1

g = I‘J'..f'2 = j'zﬂa — I‘[J‘i - f'l

Lot 4rt =90

Lo ri—00=0

. -1+ +/1 + 360
"o 2
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r =43

Thus, the common ratio of GP is +3 .

Question:10 The sum of three numbers in G.P. is 56. If we subtract 1, 7, 21 from these

numbers in that order, we obtain an arithmetic progression. Find the numbers.

Answer:

Let three terms of GP be . ar, ar®.

Then, we have a + ar + ar® = 56

a(l +r+r?)

a — J.:H.'j' === T? |’.r.f'2 — 21 from an AP.
sar—T—(a—1)=ar®—=21=(ar/~1)

ar —T—a+1=ar: =21 —ar + 7T

2

= arf—=2ar4+n0=2=5

:}arz—ar'—nr'—l—nzﬁ

= rr.(r‘z —-2r+1)=28
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o 0 = ) B e — D

From equation 1 and 2, we get
=7 —2r+1)=14r+r
ST —14r+7—-1—-r—7r2=0
= 62— 15r+6 =10

= 2% —6r+2=0

=2 —4r—r+2=0
=2r(r—-2)-1(r—-2) =0

= (r—2)(2r—-1)=0

= r=2.r=—
' 2

Ifr=2, GP = 8,16,32
If r=0.2, GP= 32,16,8.
Thus, the numbers required are 8,16,32.

Question:11 A G.P. consists of an even number of terms. If the sum of all the terms is

5 times the sum of terms occupying odd places, then find its common ratio.
Answer:

Let GP be .'h a L: i *.‘;. Cranrena e -{2"
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Number of terms = 2n

According to the given condition,

(Agy Agy Az, coniiinsiniiiond g ] = BLAy Agy o ton—1)
= R0 TH0. T C— 167 T Agy 1) =1
= Ao Ay A Aoy ) == Al Ay Ay i Aga—1)

2

Letthe be GP as @, Qr, ar  .....c.c.....ca..u

n o
N ar(r" — 1) _ da(r™ —1)
r—:l i —

Thus, the common ratio is 4.

Question:12 The sum of the first four terms of an A.P. is 56. The sum of the last four

terms is 112. If its first term is 11, then find the number of terms.

Answer:

Given : first term =a=11

Let AP be 11. 11 +d 11 + 2d, 11 + 3d, ..ooiiiiiiiiiii e 11+ (n—1)d
Given: The sum of the first four terms of an A.P. is 56.

11+11+d+11+2d + 11+ 3d = 56

Call: +91- 9686 - 083 - 421 Page 85 of 113 www.vikrantacademy.ons



VIKRANTADAD=MY"
= 44 + 6d = 56
= 6l = 56 — 44 = 12
= G§d =12

= d=2

Also, The sum of the last four terms is 112.

11+ (n—4)d+ 11+ (n=3)d+ 11+ (n =2)d+ 11+ (n —1)d = 112
=44+ (n—4)2+(n—-3)24+(n—2)2+(n—1)2 =112

= d4+2n -84+ 2n—-64+2n -4 4+2n -2 =112

= 44+ 8n — 20 = 112

= 244 8n =112

= 8n=112-24

= 8Bn = 88

= =11

Thus, the number of terms of AP is 11.

Question:13 If then show that a, b, cand d are in G.P.

Answer:
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Given :

a <+ br B b+ cx _c+ dr (2 4 0)

a— bz b—cx ¢c— dzx

Taking ,

r::,—k—b:r_b—}—c;r

a—br b—er
= (a+ bx)(b—ex) = (b+ cx)(a — bx)

= ab + b’z — bex® — acx) = ba — b*r + acx — bex?

= 2% = Qacr

= b = qc
h ¢

o — = issesaartesessens 1
a b

Taking,

b+exr c+dr

b—cx ¢c— dr

= (b+ ex)(e —dr) = (¢ + dz)(b — cx)
= be — bdz + *x — edr® = be— Ex + bdr — cdz®

= Wdr = 2z

= bn’.=t'2
g

= RS e e e 2
c b
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From equation 1 and 2 , we have

Thus, a,b.c.d are in GP.

Question:14 Let S be the sum, P the product and R the sum of reciprocals of n terms in

a G.P. Prove that P2 R" — "
Answer:
Ler there be a GP = 4. a.r,arz, ara. ....................

According to given information,

L q
alr" — 1
S = ( )
r—1
P=q" x r.c1+2+..... cerraenn =1}
min—1
P=da" xr 2
| | | |
A==+ —=4+ — e b e
a ar ar? arit—1
o n—1 4 pt 2_}_.!.”—3_}_ IIIIIIIIIIIIII r4 1
. a.r"!
1 1Hr®* —1
o (" ~1)
a.rn—1 r—1

To prove : P2R™ = S™
LHS : P2R"
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iy I},:.ltl[n—l_] (rn = ljn
EI”.!""'I”_”.(I" _ 1)?7

JU_ qhn

S ot i
(j- — lj”

_ (r’-“‘” —aj}?

R =1

=S5" =RHS

Hence proved

Question:15 The pth, gth and rth terms of an A.P. are a, b, c, respectively. Show that
(g—rla+(r—p)b+(p—qe=0

Answer:

Given: The pth, gth and rth terms of an A.P. are a, b, c, respectively.

Toprove:lg —r)a+(r—p)b+(p—qlc=0

Let the first term of AP be 't' and common difference be d

ap =t + (P — 1)d = Giuivirriinivirmion S 1
ay=deb (g =D 2
e = FAr =TS8 v mammamimammn 3

Subtracting equation 2 from 1, we get

(p—1—g+lld=a—-1b
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Subtracting equation 3 from 2, we get
lg—1=r+1d=5-c

= (g —r)d=tb—¢

b— ¢
= g = .. NI . ... .. )
if—r

Equating values of d, from equation 4 and 5, we have

rr—b_l"ﬂ—f‘

d = e ;
j'J‘—I'I I’I—f'

it — b b—r¢c

I!J'—E}‘=EI'—.|"I

= (a—b){g—r)=(b—c)(p—q)

= aq —ar — bg+ br = bp—bq — cp + ¢q
= ag —ar + br = bp —cp+ ¢q

= ag —ar +br—bp+cp—cqg=10
I T B D

Hence proved.

TR L
il

. 1
] 2 Erow
Question:16 If E b b are in A.P., prove that a, b, c are in A.P.
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Answer:
1 1 1 1 1 1
— 4+ =) b=+ =) el—+ -
Given: = b 4:‘] {{' aj' : {a b arein AP.
ab® + b%c — a’c — a®b b+ ca — b2a — b
( e ( )
abe abe

20 — a?h = b + cfa — bPa — bic

= ab®+bc—a
= ab(b— a) + c(b? = a?) = a(c® — 1) + be(c — b)

= ablb—a)+clb—a)(b+a) =alc—b)(c+b) + be(e—b)
= (b= a)(ab+c(b+ a)) = (c—b)(alc + b) + be)

= (b= a)(ab+ cb+ ac) = (¢ = b)(ac + ab + be)

= (b—a)=(c—b)

Thus, a,b,c are in AP.

Question:17 If a, b, ¢, d are in G.P, prove that (" + ") (6" + ¢"). (¢" +d") are in

G.P.
Answer:
Given: a, b, ¢, d are in G.P.

To prove: (@" + 6"), (" + "), (" +d") are in G.P.
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Then we can write,

. |
€2 = Bleeviiiiiiiriiirsiisiiireinns 2
Bl = DR b e R 3

Let(a" +0"), (6" + "), (¢" +d") be in GP
(6" + )2 = (a" + b™)(c" + d")

LHS: (0" + ¢")*

(B" + )2 = b2 4 o2 4 Qpten

(6% + )2 = (5" + ()" + 20

= (ac)" + (bd)" + 2b"c"

= a"c" + " 4+ a"d" + " d"

= c"a" + ")+ d*(a” + ")

= (a" +b")(c" +d") = RHS

Hence proved

Thus, [ﬁn + b":]. {'!'JH + .‘,n}. {-I,Jl + ff" :' are in GP
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Question:18 If a and b are the roots of #° — 32 + p = 0 and c, d are roots

of 72 =127 + ¢ =0 where a, b, ¢, d form a G.P. Prove that (q+p):(q-p)=17:15.
Answer:

Given: a and b are the roots of 2 —3z+ p=0

Then, 6+ b=3 and ab=p....................]

Also, c, d are roots of 2 —12r+q=0

c+d=12 and CEEREITIEE........ .. 2

Given:a,b,c,dforma G.P

Let a =z, b=1r,c= .ﬁr'zr d = xr?

From 1 and 2, we get
r+ar =3and i+t =12

= z(l+r)=3zr¥(1+r)=12

On dividing them,

rri(l+r) 12
c(l+r) 3

= =4

= =2

When , r=2,
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When , r=-2,

CASE (1) when r=2 and x=1,

ab = 2%r = 2 and cd = 2%r° = 32
L q+p 32+2 34 17
”q—p_BQ—‘E—SUﬁIE

ie.(gt+p):(g—p)=17:15.
CASE (2) when r=-2 and x=-3,

ab = rir = —18 and rcd = .1'21'5 = —288

. q+p —288-18 305 17
qg—p —288+18 270 15

ie.(g+p):(g-p)=17:15.

Question:19 The ratio of the A.M. and G.M. of two positive numbers a and b, is m : n.

th= (m +vm?-— n?) : (m —vm? — :;-?)

I
Show that
Answer:

Let two numbers be a and b.

a+ b

AM = and GM = Vab

According to the given condition,
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a+ b m

zy/ﬁzn

(a+ b)? B m?
dab n?
s dab.m?®
= (a+ b2 = 20
2/ ab.
5 ey b

(a —b)% = (a+b)% — 4ab
We get,

.r—r';

-lfn'nn ) — dab

(4abm — 4abn® )
(@ — EJ

= =i (4(:!1[:1':22— HE])

I

= (a—0b) =
n

(2\/@,‘/(”12 = .-:.Ej)

From 1 and 2, we get

- (25 (s V)
a = (@) (m. + 3/ {m? — ”-2:')

Putting the value of a in equation 1, we have
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= (ﬂ?) ('m. — £/ (m? — nﬂj)

(m+ (m? — nzjl)
(m. — +/(mi = nzj)

a:b= (m + 4/ (m? — ”2]) : (m — 2/ {m? — nﬁ])

Question:20Ifa,b,carein AP.;b,c,darein G.P.and 1/c, 1/d, 1/e are in A.P. prove

that a, c, e are in G.P.
Answer:

Given:a,b,carein A.P

Also, b, c, d are in G.P.

T 2

Also, 1/c, 1/d, 1/e are in A.P

Call: +91- 9686 - 083 - 421 Page 96 of 113 WWW.vikrantacademy.on



VIKRANTADAD=ZMY"

To prove: a,c,earein G.P. ie. 2 = ae

From 1, we get2b = a+¢

a-+c
2

|!,|=

From 2, we get

2
.
i =—

Putting values of b and d, we get

11 1 1
d ¢ e d
2 1 1
—_— =4 -
d ¢ e
20 11
C c €
2a+c) 1 1
= e, AR i B
2c2 c e
=x¢ I':f:-—ll—rrj = e+c
2 ce
+|- :+-r
:>ff: f):E f

= el 4 eCc = ec 4+ ¢

= el =

Thus, a, c, e are in G.P.
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Question:21(i) Find the sum of the following series up to n terms: 5 + 53 + 553 + ...
Answer:
2+ D2 + D95 + ... js not a GP.

It can be changed in GP by writing terms as

S, =0+554+ 535+ ....to nterms

Sp = %[s] +99 + 999 + 9999 + ..oocoooooo... ]
5 , .
Sn = 5l(10+ 10% + 107 + i B (114 1 )]
- 5.10(10" =-1) .,
Sn=glo=7 — I
5.10(10™ —1)
Sp = [———(n
n g[ 5 (n)]
ol) on
Sp = —[(10" = 1)] = —
m[( ) 9
Thus, the sum is
50 5n
G i TR Y] s
n = gl10" — D] -

Question:21(ii) Find the sum of the following series up to n terms: .6 +. 66 +. 666+...

Answer:

Sum of 0.6 +0. 66 + 0. 666+....................
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It can be written as

S” = (1.6 + (.66 + Dﬁﬁﬁ‘l" .......................... to n terms
B =801 4011 +0.111 4 0I1T 4 cicsonniasiinin ]
e —[D.Q +099+0999+0.9999 + ................ ]
6 1 | | 1
Y I: H]J l: 1[!2] ( J.[]‘;j ( J.[]l’l:J
. 1,1 4
Sp = E[(l+l+l..................”.ntmr:ea]—m(1+m+ﬁ+
17178
L (4"
Sy = _[”_ 'l'l._]l[il'l] :I]
17
L, 2n 2 .10(1 W
op = — ]
3 a0 )
2n 2
Oy = — — — 1-10""
=3 )

Question:22 Find the 20th term of the

series 2 x 4+ 4 x 6+ x6 x 8 + .... + n terms.

Answer:
theseries=2x4+4dx6+x6x8+....+n
ntfterm = a, = 2n(2n +2) = 4n? + 4n
Soay = 2(20)[2(20) + 2

= 40[40 + 2]
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= 40[42]
= 1680

Thus, the 20th term of series is 1680

VIKRANTADAD=MY"

Question:23 Find the sum of the first n terms of the series: 3+ 7 +13 +21 +31 +...

Answer:
The series: 3+ 7T +13 +21 +31+_ ... ...

2, :
nthterm:ﬂ +n+1 = (ly

I
+'h:l
-
(]

k=1 k=1 k=1
_nr+1)2n+1)  nn+1)
- 6 2 O
n+1)(2n+1 +1
=”I([HJ jfj 1 j+112 +£)

s ((u +12n+ 1D +3n+1) + [i)
o 6

(o2 +n+2n+1+3n+3+6
\, 6

£ 2n? + 6n + 10
=Ty
\ §

=11

n® +3n+5
\ 3
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Question:24 If 51. 52. 53 are the sum of first n natural numbers, their squares and their

2 1 Ve
cubes, respectively, show that 955 = S3(1 + 85))

Answer:

To prove : 953 = S3(1 +851)

From given information,

n(n+1)
2

=] =

2 2
Sy = n (u:— 1)

Here , RHS = S3(1 + 85))

2 2
= L(”—;:—n—“ (1 +4.n(n+1))

2 2
1
_ # (1—!—4?12—}—4!1)

2 2
“(n 41 -
= E—E-ET——L (2n + l]z

ni(n+1)%2n + 1)*
4

Also, RHS =953

9 [n(n+2)(2n+ 1))*
2
= 5]52 — [jz

9n(n+2)2n + 1)
= 36
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_ [r(n+2)(2n + P "
4

From equation 1 and 2 , we have

952 = S3(1 + 8S)) = [n(n + Ejizu +1)]

Hence proved .

Question:25 Find the sum of the following series up to n
19 13 [ 38

+
terms: | 143 1+3+5

Answer:

n term of series :

PP+ 1P+20+3 L 2334 n’
1 18 14+3+8 14345+ (2n—1)

1) 2
B 2
I U I 1 S (2n—1)
Here, 1.3.9.eee. (2n — 1) are in AP with first term =a=1 , last term = 2n-1, number
of terms =n

1 _

L 43 F 8 [.231—1‘1:5[2(1]4—[”—1]2]

=T—§[2+2u-—2]=u2

B n?(n +1)2
Iﬂ'il't — -'-1]"12
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_(n+1)?
4
n? 0 1
= — 4=t =
4 2 4
n n
k4132
Sp = g = |: + )
k=1 k=1 4
l T 1 i n 1
k=1 k=1 k=1
B ln(n+1)(2n+1) 1nn+1) n
4 6 2 2 4
((n+1)(2n+1) n+1 1
=T o i —
\ 24 4 1
_ ((r+1)(2n+1)+6(n+1)+6
=, 24

=T

(2 +n+2n+1+6n+6+6
\ 24

/2n? + On + 13)
=N
\, 24

Question:26 Show that
Answer:

To prove :

the nth term of numerator = (1 + ljz =n®+ 2n? +n
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nth term of the denominator = n%(n + 1) = n® + n?
Numerator :

{2 n n
Sn=) K+23 K+ 3 k

k=1 k=1 k=1
B n(n+ 172 ) 2naln+1)(2n+1) n(n+1)
=l =z | 0 2

nn+1)]* nn+1)2r+1) n(n+1)

i

(n(n+1)] (3?}.2 + 1ln+ IG)
]

= |[———| (3n® + 11n + 10)

SISl (e, i (.'31:.2 + 6n 4+ 5n + lfJ}

[ufu—t— 1)

1 :| ((n+2)(3n+5))

+91- 9686 - 083 - 421
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nin+1)(n+2)(3n+5)

Denominator :

&= Z kS + Z k2
k=1 k=1

12

+91- 9686 - 083 - 421

n(n+1)1° . n(n+ 1)(2n + 1)

[ 2 | §
(n(n+1)] nin+1) s n + Lj
T2 ' ¥ 3
‘n(n+1)],. 5

—T- (-3“‘. + Tn + 2)

_ 0

M (3nz+ﬁn+n—|—2)

L 12 -

(4 1) ,
T"‘ (3“-(”—#—2] —t—l(u—t—'l]]l
(n(n+1)] .
—— | ((n+2)(3n +1))

L 12 -
(n(n+1)(n+2)(3n+1)

I 5 Y [
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From equation 1,2,3,we have

nin+1){n+2){3n+3)
12

nin+1{n+2)3n+1)
12

B 3In+5
C 3n+1

Hence, the above expression is proved.

Question:27 A farmer buys a used tractor for Rs 12000. He pays Rs 6000 cash and
agrees to pay the balance in annual instalments of Rs 500 plus 12% interest on the

unpaid amount. How much will the tractor cost him?

Answer:

Given : Farmer pays Rs 6000 cash.

Therefore , unpaid amount = 12000-6000=Rs. 6000

According to given condition, interest paid annually is

12% of 6000,12% of 5500,12% of 5000,......................12% of 500.
Thus, total interest to be paid

= 12%o0 f 6000 + 12%0f 5500 + ............. 12%0 f 500

= 12%o0f (500 + 1000 + ............. + 6000)
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Herel 500. 1000, ............. 5500, 6000 is a AP with first term =a=500 and common
difference =d = 500

We know that @, = a + (n— 1)d
= G000 = 500 + (n — 1)500

= 5500 = (n — 1)500

= 11 = (n.. - I)
=n=11+1=12

Sum of AP:

S = }3% [2(500) + (12 — 1)500]

Sz = 61000 + 5500]

Thus, interest to be paid :

= 12%o0f (500 + 1000 + ............. + 6000)

= R5.4680

Thus, cost of tractor = Rs. 12000+ Rs. 4680 = Rs. 16680
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Question:28 Shamshad Ali buys a scooter for Rs 22000. He pays Rs 4000 cash and
agrees to pay the balance in annual instalment of Rs 1000 plus 10% interest on the

unpaid amount. How much will the scooter cost him?

Answer:

Given: Shamshad Ali buys a scooter for Rs 22000.

Therefore , unpaid amount = 22000-4000=Rs. 18000

According to the given condition, interest paid annually is

10% of 18000,10% of 17000,10% of 16000,......................10% of 1000.
Thus, total interest to be paid

= 10%of 18000 + 10%0 £ 17000 + ............. 10%0 f 1000

= 10%of (18000 + 17000 + .oocvrvirann. + 1000)

— 10%o0f (1000 + 2000 + ............. + 18000)

Herﬂ, 1000, 2000. ............. 17000, 18000 is a AP with first term =a=1000 and common
difference =d = 1000
We know that @, = a + (n— 1)d

= 18000 = 1000 + (n — 1) 1000

= 17000 = (n — 1)1000
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== W=in—1)
=>n=17+1=18
Sum of AP:

18
S = — [2(1000) + (18 — 1)1000]

= 171000

Thus, interest to be paid :

= 10%of (1000 4 2000 + ...ocevrenns + 18000)

= 10%of (171000)

= Rs.17100

Thus, cost of tractor = Rs. 22000+ Rs. 17100 = Rs. 39100

Question:29 A person writes a letter to four of his friends. He asks each one of them to
copy the letter and mail to four different persons with instruction that they move the
chain similarly. Assuming that the chain is not broken and that it costs 50 paise to mail

one |etter. Find the amount spent on the postage when 8th set of letter is mailed.
Answer:

The numbers of letters mailed forms a GP - 4. 4%, 4% ... 48
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first term = a=4
common ratio=r=4
number of terms = 8

We know that the sum of GP is

4(4% — 1)
4—1
4(65536 — 1)
3

4(65535)
3

BT380

costs to mail one letter are 50 paise.

Cost of mailing 87380 letters

a0

= Hs. 87380 x
100

Thus, the amount spent when the 8th set of the letter is mailed is Rs. 43690.

Question:30 A man deposited Rs 10000 in a bank at the rate of 5% simple interest
annually. Find the amount in 15th year since he deposited the amount and also

calculate the total amount after 20 years.
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Answer:

Given : A man deposited Rs 10000 in a bank at the rate of 5% simple interest annually.

.. Interest in fifteen year 10000+ 14 times Rs. 500
. Amount in 15 th year = Fs.10000 + 14 x 500
= R& 10000 + TO00

= Rs.17000

. Amount in 20 th year = Rs.10000 + 20 x 500
= Rs.10000 + 10000

= HRs.20000

Question:31 A manufacturer reckons that the value of a machine, which costs him Rs.
15625, will depreciate each year by 20%. Find the estimated value at the end of 5

years.
Answer:
Cost of machine = Rs. 15625

Machine depreciate each year by 20%.

4

Therefore, its value every year is 80% of the original cost i.e. 5 of the original cost.
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.. Value at the end of 5 years

.l,[.,}rx-ix'-lx'-lxalx-l
= 15620 X = X = X = X = X =
5 65 8 B H

Thus, the value of the machine at the end of 5 years is Rs. 5120

Question:32 150 workers were engaged to finish a job in a certain number of days. 4
workers dropped out on second day, 4 more workers dropped out on third day and so

on.
Answer:
Let x be the number of days in which 150 workers finish the work.

According to the given information, we have

Series 150 = 150 + 146 + 142+ ............(x + 8)terms ig g AP
first term=a=150

common difference= -4

number of terms = x+8

T+ 8

= 30zr=z+8 [3[}[1 —4r — '..3!8]
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= 300z = 300z — 42® — 28z + 2400 — 32r + 224
= 2% 4 15z — 544 = 0
= 2° + 327 — 1Tr — 544 =0
= rlr+32) - 17z +32) =0
= (z+32)(z—17) =0
= r=-32,17
Since x cannot be negative so x=17.
Thus, in 17 days 150 workers finish the work.

Thus, the required number of days = 17+8=25 days.
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